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dyHKUMA y=sin X, rpapmkK u CBOUCTBaA.

BB(y)=" (i +)
2)E(y)=[—1; 1] orpanuyena

3

)YHaHM =p—1 y

Yuane — 1 1/\
4)sin(-X)=-sin X yeysTHas » s 152 I

5)Bo3pacTaeT Ha {_g+2m; ’g+2m}

YbbiBaeT Ha
[+ 27mm; %’H 277 ]

6)MNepnognyHas 2
" T =21
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y = sinx + a

1)y= si

y=sin x +.1

1

nx+1; 2)y=sin x - 2
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y=sin x - 2



; 2)y= sin(x+n/6);

, +11 5}y sinx-3/2
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DYHKLUA Y = COS X, €€ CBOUCTBA

n rpadpuk.

1)D(y)= (—o0; +o0)
2)E(Y)= |—1;1] orpanuuena

S y
Yaaum = =1 /L\

Y Hau6 il, i -
4/\.\10\ )()—COSX HETHAaA

5)Bo3pacTaeT Ha|x+2me; 27+27m]

YbbiBaeT Ha [ 2702, 7T+ 2701]

6)lNepunoanyHa 1 = 21
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sin (E + x) = cosx:
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NMocTpoeHue rpacdpukoB y = cos(x+m)+n

1)y=- cos x;

2)y=cos(x-n/4)+1,5
y=cos(x-11/4)+1,5
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NocTtpoeHue rpachmkoB y=k sin x u
vy=Kk - cos X.

TYY=1/25InX; 2)
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WVYRKLENA Yy = LYy A, ©C LDUVYILIDAG 7

rpadpumk

(—£+7m- ?—r+m)
L.D(y)=" 2" 3

2.E(y) (—o0; +)
HeOFpaHquHa

3.tg(-X)=-tPyeuérnas

4 .Bo3pacTaeT (—§+7m; §+m)
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y=tg(x-n/2)
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PyHkUua Y = Ctg X, €€ CBOUNCtea m

rpadpumk

1.D(y)=T22;, 7T+ 7n)
2.E(Y)= (—00; +0)

3.ctg(-x)=-ctgx K \
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